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#9-15. Rolling disk kinetics (rollingDiskKinetics)

coefficient of friction between the disk and the ground is 4 = 0.25.

D

I

What is the angular acceleration a of the disk?

a= k rad/s?

A uniform rigid disk of mass m = 7 kg and radius r = 4 m starts at rest on a flat ground as shown. Force
D = —447 + 34j N acts at point P on the top edge, and gravity g = 9.8 m/s? acts vertically. The
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#9-15. Rolling disk kinetics (rollingDiskKinetics)

A uniform rigid disk of mass m = 7 kg and radius r = 4 m starts at rest on a flat ground as shown. Force

D= —44i + 34j N acts at point P on the top edge, and gravity g = 9.8 m/s? acts vertically. The
coefficient of friction between the disk and the ground is 4 = 0.25.
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#9-15. Rolling disk kinetics (rollingDiskKinetics)

A uniform rigid disk of mass m = 7 kg and radius r = 4 m starts at rest on a flat ground as shown. Force
D = —447 + 347 N acts at point P on the top edge, and gravity g = 9.8 m/s? acts vertically. The

coefficient of friction between the disk and the ground is 4 = 0.25.
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What is the angular acceleration a of the disk?

a= k rad/s?
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#9-15. Rolling disk kinetics (rollingDiskKinetics)

A uniform rigid disk of mass m = 7 kg and radius r = 4 m starts at rest on a flat ground as shown. Force
D = —447 + 347 N acts at point P on the top edge, and gravity g = 9.8 m/s? acts vertically. The

coefficient of friction between the disk and the ground is 4 = 0.25.
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What is the angular acceleration a of the disk?

a= k rad/s?
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#9-15. Rolling disk kinetics (rollingDiskKinetics)

A uniform rigid disk of mass m = 7 kg and radius r = 4 m starts at rest on a flat ground as shown. Force

D= —44i + 347 N acts at point P on the top edge, and gravity g = 9.8 m/s? acts vertically. The
coefficient of friction between the disk and the ground is y = 0.25.
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What is the angular acceleration a of the disk?

a k rad/s?
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#9-15. Rolling disk kinetics (rollingDiskKinetics)

A uniform rigid disk of mass m = 7 kg and radius r = 4 m starts at rest on a flat ground as shown. Force

D = —447 + 347 N acts at point P on the top edge, and gravity g = 9.8 m/s? acts vertically. The
coefficient of friction between the disk and the ground is 4 = 0.25.
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What is the angular acceleration a of the disk?

a= k rad/s?
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